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1. Sean has 50 token to spend at the school camival. The Feris wheel costs 10 tokens and the carousel costs 5
tokens. Answer the following questions:
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a. Create an inequality to represent this scenario. -
A A AT
0% + By 2 BO R
A ] // /;:‘
AT AAL
| -1
b. Groph this inequality on the graph. sz % /'"'"‘},4 PEART
4 7/ //"‘? ;7 -
E 1—63 50 S LA L2 PPN .
Re -\ -\0% [ = */%/’//,aﬂ/d/g 3 &
’ o »
— % 5—\01—750 /7/§/ A% P 5 X
9:1 '-3 6 ; A LA //4/ \\
we ld (AR § i’ o ‘0 {/ ///// // /// AN
- Ce AT/ 44 5 i
] [4 7 //

sac

~ c. If Sean rides the Ferris wheel 4 hmes ond the carousel 3 times, will he have enough tokens? Explain why

is 9 algebraically and graphically. . i
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e. Calculate the x and y- m’rercep'rs and explain what they mean in terms of the

roblem scenario.
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2. The maximum capacity for an average passenger elevatoris 15 people and 2200 pounds. Itis estimated .
that adults weigh 200 pounds and children under 16 weigh 100 pounds. -

a. Define what your variables will represent. Create a system of inequailities to represent this scenario.
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b.If7 cl%dren and 6 cdﬁits get on the elevator, will that combo satisfy the constraints? Explain why or why not.
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c.If10 oc’i‘ulfs and 5 chiraaan get on the elevator, will that combo satisfy the constraints2 Explain why or why not. .
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3. Define your variables and create a system of inequalities for each scenario below:

a. Jonah is going to the store to buy candles. Small candles cost $3.50 and large candles cost $5.00. He needs
to buy at least 20 candles, and he can spend no more than $80.

Lol Snotl Londleo 20K + 5,005 < 80
%:_g;%&m%a Corndlon Ao+ oy 220

John is packing books into boxes. Each box can hold either 15 small books or 8 large books. He needs to
ck at least 35 boxes and at least 350 bocks.
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